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Ideals for irreducible component#ﬂ)f Xpar
I = 17+ 4 b—1, v +u® a1, w2030+ 2u 1)

=0 a—u+1, v*—u—1)

* 2 irreducible components of dim¢ = 0, with total 33 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I.
I = (—uP%4+17u?®+- - .+ b—1, v**+u?®+-- . +a+1, v +2u304. . 4 2u+1)

(i) Arc colorings

(“)

a7: < u-?) )
u +1
ar = \ —y? +2u
uB 4 —u—1
az = u3 —17u28+ +3u+1
u30—u29—|— c—3u? +2u
a2 = \ 30 — 17?8+ -+ 3u+1
ud —2u
ag = \u® —3ud+u
u’ — 4u® + 4ud
as = u9—5u +7ub —2ud +u

u28+ —uwltu
a4 = _u14 + 8U12 + + u2 + 2u
(ii) Obstruction class = —1

(iii) Cusp Shapes

= 4430 4+ 3u?? — 63128 — 42027 +425u?0 4+ 231u2° — 1601u* — 582u?3 4 3678u?? 4 378u?! —
5240020+ 1434u'% +4267u'® — 3741w — 861wt 4366215 —2258u* — 1402u!3 + 263612 —
4060t — 1210010 4 852u° + 29218 — 384u” + 8618 + 142u® — 32u* — 6u3 + 13u? + 9u — 11



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy w3 =30+ 3u+1
o, Cg W 412044
€3 w3t 15030 -+ 29u 4 1
& udt —8uP o du T
Ce, C7, C9 u31+2u30++2u+1
C10




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1,4 3 — 1530 . 29y — 1
C2,C8 3+ 15930 ... — 8y — 16
€3 y*t 4+ 5y + - 4505y — 1
Cs y*t 4+ 20y% + - — 602y — 49
C6, €7, C9 Y3t =360 + - 4+ 10y — 1
C10




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

uw = —0.942627 + 0.1910651
a = —0.160124 + 0.1030641
b= 0.324783 + 0.9597501

—1.73768 — 1.982611

—12.51789 4 2.959311

u = —0.942627 — 0.1910651
a = —0.160124 — 0.1030641
b= 0.324783 — 0.9597501

—1.73768 4- 1.982611

—12.51789 — 2.959311

uw=0.696545 + 0.5452921
1.23592 — 1.627361
0.613275 + 1.1789201

a =

b:

0.71112 — 8.802961

—11.07196 + 8.430901

0.696545 — 0.5452921
= 1.23592 4 1.627361
0.613275 — 1.1789201

u =

0.71112 4 8.802961

—11.07196 — 8.430901

0.605327 + 0.5339681
—1.15171 + 1.763641
—0.398966 — 1.1607401

2.77360 — 3.438111

—7.57029 4 4.395611

0.605327 — 0.5339681
—1.15171 — 1.763641
= —0.398966 + 1.1607401

2.77360 + 3.438111

—7.57029 — 4.395611

—0.605796 + 0.4193051
—0.106041 4 0.5383721
0.914628 + 0.3934261

—1.75392 4 3.169341

—13.1405 — 6.24921

—0.605796 — 0.4193051
—0.106041 — 0.5383721
0.914628 — 0.3934261

—1.75392 — 3.169341

—13.1405 + 6.24921

0.216063 + 0.6365971
0.53700 — 1.676101
—0.488198 4 1.1615501

2.12474 4 4.802261

—7.72031 — 3.443471

0.216063 — 0.6365971
= 0.53700 4 1.676101
= —0.488198 — 1.1615501

2.12474 — 4.802261

—7.72031 + 3.443471




Solutions to I

V=1(vol + v=1CS)

Cusp shape

u = 0.331449 4 0.5825301
a = —0.68223 4 1.813251
b= 0.208622 — 1.1615807

3.57659 — 0.386681

—5.31318 4 2.650841

u= 0.331449 — 0.5825301
a = —0.68223 — 1.813251
b= 0.208622 + 1.1615801

3.57659 + 0.386681

—5.31318 — 2.650841

u = 0.574643 4 0.3054121
a= 1.51598 — 2.334601
b= 0.313373 + 0.7047321

—2.56499 — 0.985271

—12.14842 4 6.833191

u= 0.574643 — 0.3054121
a= 1.51598 4 2.334601
b= 0.313373 — 0.7047321

—2.56499 + 0.985271

—12.14842 — 6.833191

u = —1.400590 4 0.0768031
a= 0.284363 + 0.7236501
0.076838 — 1.2432301

—1.80597 + 2.688031

—9.99041 — 3.162481

u = —1.400590 — 0.0768031
a= 0.284363 — 0.7236501
b= 0.076838 + 1.2432301

—1.80597 — 2.688031

—9.99041 + 3.162481

u = 1.54559 + 0.058171
a= 0.500839 — 0.1892681
b= 0.922872 — 0.2509641

—7.37189 — 0.639061

—13.31985 4+ 0.1

u = 1.54559 — 0.058171
a = 0.500839 + 0.1892681
b= 0.922872 + 0.2509641

—7.37189 + 0.639061

—13.31985 4+ 0.1

u = —0.283148 4- 0.3473551
a = —0.301800 — 0.9487051
b= —0.732891 + 0.1399041

—0.846644 — 0.2859661

—10.27924 — 1.276111

u = —0.283148 — 0.3473551
a = —0.301800 + 0.9487051
b= —0.732891 — 0.1399041

—0.846644 + 0.285966.1

—10.27924 4- 1.276111




Solutions to I v —1(vol + v/—1CS) Cusp shape
u = —0.440544
a = —0.456355 —0.703249 —13.8910
b= —0.447925

u = —1.56849 + 0.152641
a= 1.094690 + 0.8492731
b= 0.557583 — 1.1795601

—4.51872 4 5.930111

—10.96804 — 3.4122971

u = —1.56849 — 0.152641
a= 1.094690 — 0.8492731
b= 0.557583 4 1.1795601

—4.51872 — 5.930117

—10.96804 + 3.412291

u = —1.57353 + 0.090631
a = —1.14209 — 1.286681
b = —0.446370 4- 0.9329651

—9.92171 4 2.452121

—15.0553 — 2.88251

u = —1.57353 — 0.090631
a = —1.14209 + 1.286681
b= —0.446370 — 0.9329651

—9.92171 — 2.452121

—15.0553 4 2.88251

uw= 157590+ 0.117641
a = —0.484278 4 0.3741461
b= —1.031430 + 0.5238081

—9.15652 — 5.118171

—15.5151 4 3.87131

u= 157590 — 0.117641
a = —0.484278 — 0.3741461
b= —1.031430 — 0.5238081

—9.15652 4 5.118171

—15.5151 — 3.87131

u = —1.60251 + 0.163671
a = —1.24549 — 0.759081
b= —0.711416 + 1.1796401

—7.05058 + 11.453201

—13.9714 — 7.02131

u = —1.60251 — 0.163671
a = —1.24549 + 0.759081
b= —0.711416 — 1.1796407

—7.05058 — 11.453201

—13.9714 4 7.02131

u= 1.65145+ 0.042581
a = —0.166851 + 0.3560981
b= —0.398737 4 0.7262471

—10.63140 4 1.149091

—14.4727 — 5.71361




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u= 1.65145 — 0.042581
a = —0.166851 — 0.3560981
b= —0.398737 — 0.7262471

—10.63140 — 1.149091

—14.4727 4 5.71361




ILIY=(b,a—u+1, u* —u—1)

(i) Arc colorings

ag =

as =
2u—1
a4 = u
(ii) Obstruction class =1

(iii) Cusp Shapes = —15



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C3 (u—1)2
Co, Cg u
Cq 1)2
(u+1)
2
Cs,Cg, CT u+u—1
Cg, C10 u—u—1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
2
C1,C3,C4 (y_l)
C2,C8 y2
Cs5,Ce6,C7 y2—3y+1
Cy, C10
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(vi) Complex Volumes and Cusp Shapes

Solutions to IY V—1(vol ++/=1CS) Cusp shape
u = —0.618034
a = —1.61803 —2.63189 —15.0000
b= 0
u= 1.61803
a= 0.618034 —10.5276 —15.0000
b= 0
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing

C1 ((u_1)2)(u31 —3U30+-~-+3u+1)

C2,C8 uQ(u31+u30+~~+12u+4)
“ ((u—1)%)(u™ + 150> + - + 29u + 1)
ca (w12 (™ = 3u™ + o+ 3u+ 1)
Cs (U2+U*1)(u3178u30+~--+14u+7)

€, €7 (0 +u—1)W* +2u™ + - 4+ 2u+1)

€9, C10 (u? —u—1)(w 4+ 2030 4+ 4 2u+1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, ¢4 ((y = DA = 159> + - +29y — 1)
c2, s v (y*! +15y™ + - — 8y — 16)
o ((y = )" + 5y + -+ 505y — 1)
€5 (y? — 3y + 1) (" +20y° + - - — 602y — 49)
Ce, C7,Cy (y2 — 3y + 1)(y31 _ 36y30 +o 10y — 1)
C10
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